GWD-TN-23: Verbal
------------------------------------------------------------------------------------------------------------

Q1: PP47. 
So-called green taxes, which exact a price for the use of polluting or nonrenewable fuels, are having a positive effect on the environmental and natural resource base of countries as varied as China, the Netherlands, and Hungary.

A. as varied as
B. as varied as are
C. as varied as those of
D. that are as varied as
E. that are varied as are
------------------------------------------------------------------------------------------------------------

Q2: PP48.

Unlike many United States cities, where a river is no longer the focal point of urban life, the river in San Antonio winds through the middle of the business district, and the River Walk, or Pasco del Rio, is the city's most popular attraction.

A. Unlike many United States cities, where a river is no longer the focal point of urban life, the river in San Antonio

B. Unlike the river in many cities in the United Stated, which is no longer the local point of urban life, in San Antonio the river

C. Today the river in many cities in the United States is no longer the focal point of urban life, unlike San Antonio, where it

D. In few United States cities today, a river is the focal point of urban life, but the river in San Antonio

E. No longer do many cities in United States have a river as the focal point of urban life, but in San Antonio the river
------------------------------------------------------------------------------------------------------------

Q3:TTGWD11-Q9:

The population of desert tortoises in Targland’s Red Desert has declined, partly because they are captured for sale as pets and partly because people riding all-terrain vehicles have damaged their habitat.  Targland plans to halt this population decline by blocking the current access routes into the desert and announcing new regulations to allow access only on foot.  Targland’s officials predict that these measures will be adequate, since it is difficult to collect the tortoises without a vehicle.

Which of the following would it be most important to establish in order to evaluate the officials’ prediction?

A. Whether possessing the tortoises as pets remains legally permissible in Targland

B. Whether Targland is able to enforce the regulations with respect to all-terrain vehicle entry at points other than the current access routes

C. Whether the Red Desert tortoises are most active during the day or at night

D. Whether people who travel on foot in the Red Desert often encounter the tortoises

E. Whether the Targland authorities held public hearings before restricting entry by vehicle into the Red Desert

------------------------------------------------------------------------------------------------------------
Q4~Q6: GWD-4-Q35 to Q37

      In addition to conventional galaxies, the universe contains very dim galaxies that until recently went unnoticed by astronomers.  Possibly as numerous as conventional galaxies, these galaxies have the same general shape and even the same approximate number of stars as a common type of conventional galaxy, the spiral, but tend to be much larger. Because these galaxies’ mass is spread out over larger areas, they have far fewer stars per unit volume than do conventional galaxies. Apparently these low-surface-brightness galaxies, as they are called, take much longer than conventional galaxies to condense their primordial gas and convert it to stars—that is, they evolve much more slowly. 

      These galaxies may constitute an answer to the long-standing puzzle of the missing baryonic mass in the universe. Baryons—subatomic particles that are generally protons or neutrons—are the source of stellar, and therefore galactic, luminosity, and so their numbers can be estimated based on how luminous galaxies are.  However, the amount of helium in the universe, as measured by spectroscopy, suggests that there are far more baryons in the universe than estimates based on galactic luminosity indicate.  Astronomers have long speculated that the missing baryonic mass might eventually be discovered in intergalactic space or as some large population of galaxies that are difficult to detect. 

------------------------------------------------------------------

GWD-4-Q35:

The primary purpose of the passage is to

A. describe a phenomenon and consider its scientific significance

B. contrast two phenomena and discuss a puzzling difference between them

C. identify a newly discovered phenomenon and explain its origins

D. compare two classes of objects and discuss the physical properties of each

E. discuss a discovery and point out its inconsistency with existing theory

-------------------------------------------------------------------
GWD-4-Q36:

The author mentions the fact that baryons are the source of stars’ luminosity primarily in order to explain

A. how astronomers determine that some galaxies contain fewer stars per unit volume than do others

B. how astronomers are able to calculate the total luminosity of a galaxy

C. why astronomers can use galactic luminosity to estimate baryonic mass

D. why astronomers’ estimates of baryonic mass based on galactic luminosity are more reliable than those based on spectroscopic studies of helium

E. how astronomers know bright galaxies contain more baryons than do dim galaxies

-------------------------------------------------------------------- 

GWD-4-Q37:

It can be inferred from the passage that which of the following is an accurate physical description of typical low-surface-brightness galaxies?

A. They are large spiral galaxies containing fewer stars than do conventional galaxies.

B. They are compact but very dim spiral galaxies.

C. They are diffuse spiral galaxies that occupy a large volume of space.

D. They are small, young spiral galaxies that contain a high proportion of primordial gas.

E. They are large, dense spirals with low luminosity.
------------------------------------------------------------------
Q7: PP49. 

It was only after Katharine Graham became publisher of The Washington Post in 1963 that it moved into the first rank of American newspapers, and it was under her command that the paper won high praise for its unrelenting reporting of the Watergate scandal.

A. It was only after Katharine Graham became publisher of The Washington Post in 1963 that it moved into the first rank of American newspapers, and it was under her command that the paper won high praise

B. It was only after Katharine Graham's becoming publisher of The Washington Post in 1963 that it moved into the first rank of American newspapers, and under her command it had won high praise

C. Katharine Graham became publisher of The Washington Post in 1963, and only after that did it move into the first rank of American newspapers, having won high praise under her command

D. Moving into the first rank of American newspapers only after Katharine Graham became its publisher in 1963, The Washington Post, winning high praise under her command

E. Moving into the first rank of American newspapers only after Katharine Graham's becoming its publisher in 1963, The Washington Post won high praise under her command
------------------------------------------------------------------------------------------------------------
Q8: PP 50.

The automobile company announced that the average price of next year’s models would decrease four-tenths of one percent, amounting to about $72, as compared with comparably equipped cars and trucks this year.
A. The automobile company announced that the average price of next year’s models would decrease four-tenths of one percent, amounting to about $72, as compared with comparably equipped cars and trucks this year. 

B. The automobile company announced that the average price of next year’s cars and trucks would decrease four-tenths of one percent, or about $72, from that of comparably equipped models this year.

C. The automobile company announced that there would be a decrease of four-tenths of one percent in next year’s models price, or about $72, below this year’s comparably equipped cars and trucks. 

D. Compared to comparably equipped models this year, the automobile company announced that the average price of next year’s cars and trucks would decrease about $72, less by four-tenths of one percent.

E. Contrasted with comparably equipped cars and trucks of this year, the automobile company announced that the average price of next year’s models would decrease about $72, or four-tenths of one percent.
------------------------------------------------------------------------------------------------------------

Q9: PP 51. 

A study on couples' retirement transitions found that women who took new jobs after retiring from their primary careers reported high marital satisfaction, more so than those who retired completely.

A. more so than those who retired

B. which was more than if they had retired

C. more than when retiring

D. more than if they were to retire

E. which was more so than those retiring
------------------------------------------------------------------------------------------------------------

Q10:GWD-13-Q32*:
Macrophages are cells that play a role in the response of the immune system of mice and other mammals to invasive organisms such as bacteria.  Unlike other mice, mice that are genetically incapable of making these particular cells do not show elevated levels of nitrates when infected with bacteria.

The statements above, if true, provide the most support for which of the following conclusions?

A. Mice that are unable either to make macrophages or to make them in sufficient numbers will protect themselves from bacterial infections in some other way.

B. Mice that show elevated levels of nitrates can easily fight off most types of bacterial infections.

C. In mice, macrophages play a role in the production of nitrates or inhibit a process by which nitrates are broken down or otherwise eliminated.

D. When a healthy mouse becomes infected with an invasive organism, the number of macrophages in the mouse’s body decreases.

E. Injections of nitrates into mice that lack macrophages will not enhance the ability of these animals’ immune systems to fight off infection.
------------------------------------------------------------------------------------------------------------

Q11~Q15: GWD-4-Q22 to Q25
      Many managers are influenced by dangerous myths about pay that lead to counterproductive decisions about how their companies compensate employees.  One such myth is that labor rates, the rate per hour paid to workers, are identical with labor costs, the money spent on labor in relation to the productivity of the labor force. This myth leads to the assumption that a company can simply lower its labor costs by cutting wages.  But labor costs and labor rates are not in fact the same:  one company could pay its workers considerably more than another and yet have lower labor costs if that company’s productivity were higher due to the talent of its workforce, the efficiency of its work processes, or other factors.  The confusion of costs with rates persists partly because labor rates are a convenient target for managers who want to make an impact on their company’s budgets.  Because labor rates are highly visible, managers can easily compare their company’s rates with those of competitors.  Furthermore, labor rates often appear to be a company’s most malleable financial variable:  cutting wages appears an easier way to control costs than such options as reconfiguring work processes or altering product design. 
      The myth that labor rates and labor costs are equivalent is supported by business journalists, who frequently confound the two.  For example, prominent business journals often remark on the “high” cost of German labor, citing as evidence the average amount paid to German workers.  The myth is also perpetuated by the compensation-consulting industry, which has its own incentives to keep such myths alive. First, although some of these consulting firms have recently broadened their practices beyond the area of compensation, their mainstay continues to be advising companies on changing their compensation practices.  Suggesting that a company’s performance can be improved in some other way than by altering its pay system may be empirically correct but contrary to the consultants’ interests.  Furthermore, changes to the compensation system may appear to be simpler to implement than changes to other aspects of an organization, so managers are more likely to find such advice from consultants palatable.  Finally, to the extant that changes in compensation create new problems, the consultants will continue to have work solving the problems that result from their advice. 

------------------------------------------------------------------

GWD-4-Q22:

The author of the passage suggests which of the following about the advice that the consulting firms discussed in the passage customarily give to companies attempting to control costs?

A. It often fails to bring about the intended changes in companies’ compensation systems.

B. It has highly influenced views that predominate in prominent business journals.

C. It tends to result in decreased labor rates but increased labor costs.

D. It leads to changes in companies’ compensation practices that are less visible than changes to work processes would be.

E. It might be different if the consulting firms were less narrowly specialized.

-------------------------------------------------------------------
GWD-4-Q23:

The author of the passage mentions business journals primarily in order to

A. demonstrate how a particular kind of evidence can be used to support two different conclusions 
B. cast doubt on a particular view about the average amount paid to German workers

C. suggest that business journalists may have a vested interest in perpetuating a particular view

D. identify one source of support for a view common among business managers

E. indicate a way in which a particular myth could be dispelled

--------------------------------------------------------------------
GWD-4-Q24:

It can be inferred from the passage that the author would be most likely to agree with which of the following statements about compensation?

A. A company’s labor costs are not affected by the efficiency of its work processes.

B. High labor rates are not necessarily inconsistent with the goals of companies that want to reduce costs

C. It is more difficult for managers to compare their companies’ labor rates with those of competitors than to compare labor costs.

D. A company whose labor rates are high is unlikely to have lower labor costs than other companies.

E. Managers often use information about competitors’ labor costs to calculate those companies’ labor rates.



-------------------------------------------------------------------
GWD-4-Q25:

According to the passage, which of the following is true about changes to a company’s compensation system?

A. They are often implemented in conjunction with a company’s efforts to reconfigure its work processes.

B. They have been advocated by prominent business journals as the most direct way for a company to bring about changes in its labor costs.

C. They are more likely to result in an increase in labor costs than they are to bring about competitive advantages for the company.

D. They sometimes result in significant cost savings but are likely to create labor-relations problems for the company.

E. They may seem to managers to be relatively easy to implement compared with other kinds of changes managers might consider.

------------------------------------------------------------
TTGWD-15-Q24:

The passage suggests that the “myth” mentioned in line 5 persists partly because

A. managers find it easier to compare their companies’ labor rates with those of competitors than to compare labor costs

B. managers tend to assume that labor rates affect their companies’ budgets less than they actually do

C. managers tend to believe that labor rates can have an impact on the efficiency of their companies’ work processes

D. the average amount paid to workers differs significantly from one country to another

E. many companies fail to rely on compensation consultants when making decisions about labor rates
------------------------------------------------------------------
Q16: PP52. 

Although at one time children’s programming had been limited to a few hours a week, now, however, there are at least four cable networks that dedicate themselves entirely to shows produced specifically for children.

A. Although at one time children’s programming had been limited to a few hours a week, now, however, there are at least four cable networks that dedicate themselves

B. With children’s programming having been limited at one time to a few hours a week, now at least four cable networks have dedicated themselves
C. Once limited to a few hours a week, there are now at least four cable networks with children’s programming that dedicate themselves
D. Children’s programming was once limited to a few hours a week, but now there are at least four cable networks dedicated
E. While children’s programming had once been limited to a few hours a week, at least four cable networks are now dedicated
------------------------------------------------------------------------------------------------------------
Q17: PP53

 The ability of scientists to provide models of the atmosphere’s complex responses to changing conditions, like seasonal and daily cycles or different planetary conjunctions, have become ever more accurate.

A. The ability of scientists to provide models of the atmosphere’s complex responses to changing conditions, like seasonal and daily cycles or different planetary conjunctions, have become ever more accurate.

B. The ability of scientists has become ever more accurate in providing models of the atmosphere’s complex responses to changing conditions, such as seasonal and daily cycles or different planetary conjunctions.

C. Scientists have become able to provide ever more accurate models of the atmosphere’s complex responses to such changing conditions as seasonal and daily cycles or different planetary conjunctions.

D. Scientists have become ever more accurate in their ability for providing models of the atmosphere’s complex responses to changing conditions, like seasonal and daily cycles or different planetary conjunctions.

E. Scientists’ ability to provide models of the atmosphere’s complex responses to such changing conditions as seasonal and daily cycles or different planetary conjunctions have become ever more accurate.
------------------------------------------------------------------------------------------------------------
Q18:GWD-13-Q39:
Which of the following most logically completes the argument below?

According to promotional material published by the city of Springfield, more tourists stay in hotels in Springfield than stay in the neighboring city of Harristown.  A brochure from the largest hotel in Harristown claims that more tourists stay in that hotel than stay in the Royal Arms Hotel in Springfield.  If both of these sources are accurate, however, the “Report on Tourism” for the region must be in error in stating that ______.

A. the average length of stay is longer at the largest hotel in Harristown than it is at the Royal Arms Hotel

B. there is only one hotel in Harristown that is larger than the Royal Arms Hotel

C. more tourists stay in hotels in Harristown than stay in the Royal Arms Hotel

D. the Royal Arms Hotel is the largest hotel in Springfield

E. the Royal Arms Hotel is the only hotel in Springfield

------------------------------------------------------------------------------------------------------------
Q19:GWD-2-Q40:
Which of the following most logically completes the argument?
A new drug, taken twice daily for one month, is an effective treatment for a certain disease.  The drug now most commonly prescribed for the disease occasionally has serious side effects such as seizures; in field tests, the new drug’s side effects, though no worse than mild nausea, turned out to be much more frequent.  Nevertheless, the new drug is clearly preferable as a treatment, since _____.

A. people who experience nausea are prone to discontinue use of the new drug prematurely

B. …

C. …

D. …

E. there is a nonprescription medication that when taken with the new drug prevents the onset of nausea [E]
------------------------------------------------------------------------------------------------------------
Q20: PP54. 

Regardless of their form or function, all aerodynamically enhanced, curved objects made for throwing have been called boomerangs by non-Australians ever since 1788, when European saw Dharug-speaking men tossing 'bumariny' in the area later known as Sydney.
A. Regardless of their form or function, all aerodynamically enhanced, curved objects made for throwing have been called boomerangs by non-Australians ever since 1788

B. Regardless of their form or function, any aerodynamically enhanced, curved object made for throwing has been called a boomerang by non-Australians ever since 1788

C. Ever since 1788, non-Australians have called all aerodynamically enhanced, curved objects made for throwing boomerangs, regardless of their form or function, from

D. Ever since 1788, any aerodynamically enhanced, curved object made for throwing has been called a boomerang by non-Australians, regardless of its form or function, from

E. Non-Australians have called all aerodynamically enhanced, curved objects made for throwing boomerangs since 1788, regardless of their form or function, from
------------------------------------------------------------------------------------------------------------ 
Q21: PP55. 

Industrialization and modern methods of insect control have improved the standard of living around the globe while at the same time they have introduced some 100,000 dangerous chemical pollutants, having gone virtually unregulated since they were developed more than 50 years ago.

A. while at the same time they have introduced some 100,000 dangerous chemical pollutants, having 

B. while at the same time introducing some 100,000 dangerous chemical pollutants that have

C. while they have introduced some 100,000 dangerous chemical pollutants at the same time, which have

D. but introducing some 100,000 dangerous chemical pollutants at the same time that have

E. but at the same time introducing some 100,000 dangerous chemical pollutant, having
------------------------------------------------------------------------------------------------------------
Q22:GWD-4-Q8:
From 1980 to 1989, total consumption of fish in the country of Jurania increased by 4.5 percent, and total consumption of poultry products there increased by 9.0 percent.  During the same period, the population of Jurania increased by 6 percent, in part due to immigration to Jurania from other countries in the region.

If the statements above are true, which of the following must also be true on the basis of them?

A. During the 1980’s in Jurania, profits of wholesale distributors of poultry products increased at a greater rate than did profits of wholesale distributors of fish. 

B. For people who immigrated to Jurania during the 1980’s, fish was less likely to be a major part of their diet than was poultry.

C. In 1989 Juranians consumed twice as much poultry as fish.

D. For a significant proportion of Jurania’s population, both fish and poultry products were a regular part of their diet during the 1980’s.

E. Per capita consumption of fish in Jurania was lower in 1989 than in 1980.

------------------------------------------------------------------------------------------------------------
Q23: GWD-2-Q19:
Sunflowers growing in pots were placed, with their roots submerged, in the pond contaminated with radioactive elements.  The sunflowers kept growing; in the process, they absorbed radioactive elements.  Within twelve days, 85 percent of the radioactive elements were removed from the water, which is no less than can be accomplished with the much more expensive conventional filtration techniques.  Scientists therefore propose using sunflowers for decontamination wherever there are radioactively contaminated ponds.

Which of the following, if true, points to a limitation on the applicability of the proposed method of decontamination?

A. Some plants other than sunflowers can also remove radioactive elements from water.

B. The water in many ponds contaminated with radioactive elements is so cold that it would kill sunflowers whose roots were submerged in it.

C. Sunflowers that grow with their roots submerged in water grow less well than sunflowers growing under optimal conditions on dry land.

D. Only species of sunflowers with large leaves can have their roots submerged in water and still keep growing.

E. In ponds in which the circulation of the water is artificially increased, sunflowers absorb radioactive elements far faster than they do in other ponds.
------------------------------------------------------------------------------------------------------------
Q24~Q25: GWD32-Q13-Q14
Manufacturing site location is an important consideration in determining the optimal deployment of a firm’s production resources, but one that is usually given only limited attention. Decisions about location are often based purely on quantitative analyses that trade off transportation costs, economies of scale, and other cost-based variables. This practice, however, can lead to suboptimal results, as decision-makers tend to focus only on easily quantifiable factors. A further disadvantage of strictly cost-based methods is that they tend to focus on cost advantage factors, which are often transitory Government regulations, tax systems, and exchange rates can quickly change. Strategies based on such parameters may eventually be rendered obsolete by the very factors that first created an advantage.

        In contrast, qualitative issues, which are frequently neglected in choosing manufacturing site locations, are often central to creating and supporting a competitive advantage. For example, the level of skill possessed by the local workforce varies with location; consequently, location can affect the ability of firms to implement skill-based process technologies. When formulating a site location strategy, companies should therefore emphasize qualitative factors to ensure that the chosen strategy supports the company’s overall business strategy. Only after establishing a set of desirable location options should companies refine choices using cost-based factors.

--------------------------------------------------------------------------

Q13. The passage suggests which of the following concerning qualitative methods used in choosing manufacturing sites?

A. They are more likely than are quantitative methods to identify issues crucial to maintaining a competitive advantage 

B. They are least useful to companies with relatively low levels of manufacturing technology 

C. They have little value when applied to decisions other than choice of site 

D. They are more risky for decision makers than are quantitative methods 

E. They are used more frequently by multinational corporations than by companies with strictly domestic operations. 

---------------------------------------------------------------------------
Q14. According to the passage, analysis of quantitative factors is best used for which of the following?

A. Determining strategies for offsetting qualitative disadvantages in manufacturing site locations

B. Evaluating manufacturing site-location parameters affecting long-term competitive advantage 

C. Choosing manufacturing site locations that have access to optimal workforce populations

D. Narrowing manufacturing site-location options arrived it through qualitative analysis 

E. Making decisions about business considerations other than location of manufacturing sites
-------------------------------------------------------------------
Q26: PP56. 

The proliferation of so-called cybersquatters, people who register the Internet domain names of high-profile companies in hopes of reselling the rights to those names for a profit, led to passing the Anti-Cybersquatting Consumer Protection Act in 1999, allowing companies to seed up to $100000 in damages against those who register domain names with the sole intent of selling them later.

A. passing the Anti-Cybersquatting Consumer Protection Act in 1999, allowing companies to seek up to $100000 in damages against those who register domain names with the sole intent of selling them later.

B. the passage of the Anti-Cybersquatting Consumer Protection Act in 1999, which allows companies to seek up to $100000 in damages against those who register domain names with the sole intent that they will sell

C. the passage in 1999 of the Anti-Cybersquatting Consumer Protection Act, which allows companies to seek up to $100000 in damages against those who register domain names with the sole intent of selling

D. the Anti-Cybersquatting Consumer Protection Act, which was passed in 1999, and it allows companies to seek up to $100000 in damages against those who register domain names with the sole intent to sell

E. the Anti-Cybersquatting Consumer Protection Act, passed in 1999, and it allows companies to seek up to $100000 in damages against those who register domain names with the sole intent of selling
------------------------------------------------------------------------------------------------------------
Q27: PP57. 

Whereas scientists, because of random fluctuations in the weather, can not determine the transition from one season to the next by monitoring temperatures on a daily basis, so they cannot determine the onset of global warming by monitoring average annual temperatures. 

A. Whereas scientists
B. Just as scientists
C. Like scientists who
D. Inasmuch as a scientist
E. In the same way a scientist
------------------------------------------------------------------------------------------------------------
Q28: PP58.

Diesel engines burn as much as 30% less fuel than gasoline engines of comparable size, as well as emitting far less carbon dioxide gas and far fewer of the other gasses that have been implicated in global warming.

A. of comparable size, as well as emitting far less carbon dioxide gas and far fewer of the other gasses that have

B. of comparable size, as well as emit far less carbon dioxide gas and far fewer of the other gasses having 

C. of comparable size, and also they emit far fewer carbon dioxide and other gasses that have 

D. that have a comparable size, and also they emit far fewer of the other gasses having 

E. that have a comparable size, as well as emitting far fewer of the other gasses having 
------------------------------------------------------------------------------------------------------------
Q29: PP60. 

First discovered more than 30 years ago, Lina's sunbird, a four-and-a-half-inch animal found in the Philippines and that resembles a hummingbird, has shimmering metallic colors on its head; a brilliant orange patch, bordered with red tufts, in the center of its breast; and a red eye. 

A. found in the Philippines and that resembles
B. found in the Philippines and that, resembling
C. found in the Philippines and resembling
D. that is found in the Philippines and it resembles
E. that is found in the Philippines and that, resembling
------------------------------------------------------------------------------------------------------------
Q30: GWD-11-Q41:
Charcoal from a hearth site in Colorado, 2,000 miles south of Alaska, is known to be 11,200 years old.  Researchers reasoned that, since glaciers prevented human migration south from the Alaska-Siberia land bridge between 18,000 and 11,000 years ago, humans must have come to the Americas more than 18,000 years ago.

Which of the following pieces of new evidence would cast doubt on the conclusion drawn above?

A. Using new radiocarbon dating techniques, it was determined that the charcoal from the Colorado site was at least 11,400 years old.

B. Another campsite was found in New Mexico with remains dated at 16,000 years old.

C. A computer simulation of glacial activity showed that it would already have been impossible for humans to travel south overland from Alaska 18,500 years ago.

D. Using new radiocarbon dating techniques, it was proved that an ice-free corridor allowed passage south from the Alaska-Siberia land bridge at least 11,400 years ago.

E. Studies of various other hunting-gathering populations showed convincingly that, once the glaciers allowed passage, humans could have migrated from Alaska to Colorado in about 20 years.
------------------------------------------------------------------------------------------------------------
Q31:GWD-11-Q38:
Unprecedented industrial growth in the country of Remo has created serious environmental problems because factories there lack adequate pollution-control systems.  Remo is developing a clean growth plan that includes environmental regulations that will require the installation of such systems.  Since no companies in Remo currently produce pollution-control systems, the plan, if implemented, will create significant opportunities for foreign exporters to market pollution-control systems.

Which of the following, if true, most seriously weakens the argument?

A. The clean growth plan will provide tax incentives for local businesses to develop and manufacture pollution-control devices.

B. Foreign exporters would provide factory-trained technicians to maintain the pollution-control systems sold to Remo.

C. Industrial lobbyists sponsored by local businesses in Remo are trying to prevent the implementation of the government regulations.

D. The regulations that Remo plans to implement are much less strict than those in neighboring nations.

E. Pollution in Remo has caused serious health problems for workers, contributing to a significant increase in the number of workdays lost to illness.

------------------------------------------------------------------------------------------------------------
Q32: PP61. 

Among lower-paid workers, union members are less likely than nonunion members to be enrolled in lower-end insurance plans imposing stricter limits on medical services and requiring doctors to see more patients, and spend less time with each.

A. imposing stricter limits on medical services and requiring doctors to see more patients, and spend

B. imposing stricter limits on medical services, requiring doctors to see more patients, and spending
C. that impose stricter limits on medical services, require doctors to see more patients, and spend
D. that impose stricter limits on medical services and require doctors to see more patients, spending
E. that impose stricter limits on medical services, requiring doctors to see more patients and spending
------------------------------------------------------------------------------------------------------------
Q33: PP62. 

Because she knew many of the leaders of colonial America and the American Revolution personally, Mercy Otis Warren was continually at or near the center of political events from 1765 to 1789, a vantage point combining with her talent for writing to make her one of the most valuable historians of the ear

A. a vantage point combining with her talent for writing to make

B. a vantage point, when combined with her talent for writing, that made

C. a vantage point that combined with her talent for writing, and it made

D. and this vantage point, which combined with her talent for writing to make

E. and this vantage point, combined with her talent for writing, made

------------------------------------------------------------------------------------------------------------
Q34: GWD-28-Q33-Q36 
     Customer loyalty programs are attempts to bond customers to a company and its products and services by offering incentives – such as airline frequent flyer programs or special credit cards with valuable benefits – to loyal customers. In support of loyalty programs, companies often invoke the "80/20" principle, which states that about 80 percent of revenue typically comes from only about 20 percent of customers. However, this profitable 20 percent are not necessarily loyal buyers, especially in the sense of exclusive loyalty. Studies have demonstrated that only about 10 percent of buyers for many types of frequently purchased consumer goods are 100 percent loyal to a particular brand over a one-year period. Moreover, 100-percent-loyal buyers tend to be light buyers of the product or service. "Divided loyalty" better describes actual consumer behavior, since customers typically vary the brands they buy. The reasons for this behavior are fairly straightforward: people buy different brands for different occasions or for variety, or a brand may be the only one in stock or may offer better value because of a special deal. Most buyers who change brands are not lost forever; usually, they are heavy consumers who simply (35) prefer to buy a number of brands. Such multi-brand loyalty means that one company's most profitable customers will probably be its competitors' most profitable customers as well. (40) Still, advocates of loyalty programs contend that such programs are beneficial because the costs of serving highly loyal customers are lower, and because such loyal customers are less price sensitive than other customers. It is true that when there are start-up costs, such as credit checks, involved in serving a new customer, the costs exceed those of serving a repeat customer.  However, it is not at all clear why the costs of serving a highly loyal customer should in principle be different from those of serving any other type of repeat customer. The key variables driving cost are size and type of order, special versus standard order, and so on, not high-loyalty versus divided-loyalty customers. As for price sensitivity, highly loyal customers may in fact come to expect a price discount as a reward for their loyalty.




33: The primary purpose of the passage is to

A. question the notion that customer loyalty programs are beneficial

B. examine the reasons why many customers buy multiple brands of products

C. propose some possible alternatives to customer loyalty programs

D. demonstrate that most customers are not completely loyal to any one brand of product or service

E. compare the benefits of customer loyalty programs with those of other types of purchase incentive programs

34: missing

35: missing

36: missing

-------------------------------------------------------------------------------------------------------
Q35:GWD-11-Q31:
People with a certain eye disorder are virtually unable to see in moderately bright light, which seems to them unbearably intense, since the cells of their retinas are overwhelmed by moderately bright light.  These people do, however, show normal sensitivity to most components of dim light.  Their retinal cells are also not excessively sensitive to red components of moderately bright light.

The information above best supports which of the following hypotheses about people with the disorder described, if they have no other serious visual problems?

A. In all moderately dim light in which people without the disorder can read large print, people with the disorder cannot read such print.

B. In an otherwise darkened concert hall, these people will see a dimly illuminated red exit sign more clearly than small dim white lights that mark the aisles.

C. These people typically see more acutely at night and in dim light than do most people who do not have the disorder.

D. Eyeglasses that are transparent to red components of light but filter out other components of light help these people see in moderately bright light. 

E. These people perceive colors other than red in the same way as do most people who do not have the disorder.

D 关键要读懂题目。 ------------------------------------------------------------------------------------------------------------
Q36: OV-80
Vitacorp, a manufacturer, wishes to make its information booth at an industry convention more productive in terms of boosting sales. The booth offers information introducing the company’s new products and services. To achieve the desired result, Vitacorp’s marketing department will attempt to attract more people to the boost. The marketing director’s first measure was to instruct each salesperson to call his or her five best customers and personally invite them to visit the boost.

Which of the following, if true, most seriously weaken the predication that the marketing director’s first measure will contribute to meeting that goal of boosting sales?

A. Customers who participate booth are those not satisfied with Vitacorp products and will use this opportunity to express their unsatisfaction.

B. Many of Vitacorp’s competitors have made plans for making their own information booths more productive in increasing sales.

C. An information booth that is well attended tends to attract visitors who would not otherwise have attended the booth.

D. Most of Vitacorp’s best customers also have business dealings with Vitacorp’s competitors.

E. Vitacorp has fewer new products and services available this year than it had in previous years.

------------------------------------------------------------------------------------------------------------
Q37:TTGWD11-Q12:
In Brindon County, virtually all of the fasteners—such as nuts, bolts, and screws—used by workshops and manufacturing firms have for several years been supplied by the Brindon Bolt Barn, a specialist wholesaler.  In recent months many of Brindon County’s workshops and manufacturing firms have closed down, and no new ones have opened.  Therefore, the Brindon Bolt Barn will undoubtedly show a sharp decline in sales volume and revenue for this year as compared to last year.

The argument depends on assuming which of the following?

A. Last year the Brindon Bolt Barn’s sales volume and revenue were significantly higher than they had been the previous year.

B. The workshops and manufacturing firms that have remained open have a smaller volume of work to do this year than they did last year.

C. Soon the Brindon Bolt Barn will no longer be the only significant supplier of fasteners to Brindon County’s workshops.

D. The Brindon Bolt Barn’s operating expenses have not increased this year.

E. The Brindon Bolt Barn is not a company that gets the great majority of its business from customers outside Brindon County.

------------------------------------------------------------------------------------------------------------
Q38:PP63
When drafting the Declaration of Sentiments that was adopted at the Seneca Falls Women’s Rights Conventions in 1848, included in it by the author, Elizabeth Cady Stanton, was a call for female enfranchisement.

A. When drafting the Declaration of Sentiments that was adopted at the Seneca Falls Women’s Rights Conventions in 1848, included in it by the author, Elizabeth Cady Stanton, was a call for female enfranchisement.

B. Including a call for female enfranchisement, a draft of the Declaration of Sentiments was adopted at the Seneca Falls Women’s Rights Conventions in 1848 that Elizabeth Cady Stanton wrote.
C. When the Declaration of Sentiments drafted by Elizabeth Cady Stanton was adopted at the Seneca Falls Women’s Rights Convention in 1848, a call for female enfranchisement had been included in it .
D. A call for female enfranchisement, included in Elizabeth Cady Stanton’s draft of the Declaration of Sentiments in 1848, that was adopted by the Seneca Falls Women’s Rights Convention.
E. When Elizabeth Cady Stanton drafted the Declaration of Sentiments that was adopted at the Seneca Falls Women’s Rights Convention in 1848, she included in it a call for female enfranchisement.
------------------------------------------------------------------------------------------------------------
Q39:PP64

Whereas the use of synthetic fertilizers has greatly expanded agricultural productivity in many parts of the world, an increase in their use can create serious environmental problems such as water pollution, and their substitution for more traditional fertilizers may accelerate soil structure deterioration and soil erosion.

A. an increase in their use can create serious environmental problems such as water pollution, and their substitution for more traditional fertilizers
B. an increase in their use can create serious environmental problems like water pollution, and if substituted for more traditional fertilizers, it
C. if these fertilizers are used increasingly, they can create serious environmental problems such as water pollution, and if used as substitutions for more traditional fertilizers, they
D. the increased usage of these fertilizers can create serious environmental problems such as water pollution, while if substituted for more traditional fertilizers, this substitution
E. the increased usage of these fertilizers can create serious environmental problems like water pollution, while their substitution for more traditional fertilizers
------------------------------------------------------------------------------------------------------------
Q40:PP65
A decade after initiating the nation's most comprehensive and aggressive antismoking program, per capita consumption of cigarettes in California declined from over 125 packs annually per person to about 60, a drop more than twice as great as in the nation as a whole.

A. per capita consumption of cigarettes in California declined from over 125 packs annually per person to about 60, a drop more than twice as great as

B. annual per capita consumption of cigarettes in California declined from over 125 packs to about 60, more than twice as great as that
C. California's annual per capita consumption of cigarettes declined from over 125 packs per person to about 60, more than twice as great as the drop
D. California has seen per capita consumption of cigarettes decline from over 125 packs annually to about 60, a drop more than twice as great as that
E. California has seen annual per capita consumption of cigarettes decline from over 125 packs per person to about 60, more than twice as great as that
------------------------------------------------------------------------------------------------------------
Q41:PP66

Archaeologists in Egypt have excavated a 5,000-year-old wooden hull that is the earliest surviving example of a “built” boat—in other words, a boat constructed out of planks fitted together—and that thus represents a major advance, in terms of boat-building technology, over the dugout logs and reed vessels of more ancient vintage.

A. together—and that thus represents
B. together—and this has represented
C. together, and it represents
D. together that was representing
E. together to represent
